Tableaux des Puissances de Dix (I)

Divisez le nombre de la rangée par celui de la colonne.
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Tableaux des Puissances de Dix (I) Solutions

Divisez le nombre de la rangée par celui de la colonne.

+ 10 100 0,0001 0,001
79 7,9 0,79 790 000 79 000
77 7,7 0,77 770 000 77 000
88 8,8 0,88 880 000 88 000
52 5,2 0,52 520000 52 000
27 2,7 0,27 270000 27 000
+ 0,1 1000 10 000 0,01

34 340 0,034 0,0034 3 400
93 930 0,093 0,0093 9300
53 530 0,053 0,0053 5300
30 300 0,03 0,003 3000
9 90 0,009 0,0009 900

+ 0,001 10 10 000 0,01

88 88 000 8,8 0,0088 8 800
21 21 000 2,1 0,0021 2100
3 3 000 0,3 0,0003 300

71 71000 7,1 0,0071 7100
6 6 000 0,6 0,0006 600

+ 0,01 0,001 0,1 10 000
7 700 7 000 70 0,0007
15 1500 15000 150 0,0015
87 8700 87 000 870 0,0087
22 2200 22 000 220 0,0022
91 9100 91 000 910 0,0091
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